

Region: 5

Location: VA049

CSS #: 616

Maximo Work Order No.: 17766

Asset #: NA

Date Issued: 6/1/22

Original Description: Chiller steel frame needs to be scraped and painted with grey rust oleum paint

Labor and Matierals to thoroughly perpare the entire steel structure by scrapping and sanding all rusted areas. Then clean the entire structure to create a clean and smooth surface. Apply a rust inhabitor iol base primer, once dry, apply 2 coats of a metal rust inhabitor, oil base, protective enamel paint in battleship grey. All areas of roof will be protected during process and debris will be properly disposed of.

Quantity	Line Item Number	Description	Labor Hours	Labor Rate/Hr	Materials	Equipment	Total
--	NA	Materials (See Attached for Details)	--	--	\$ 1,169.69	--	\$1,169.69
--	NA	S&S Hotel Expenses	--	--	\$ 1,046.40	--	\$1,046.40
--	NA	S&S Labor	80	\$174.00	--	--	\$13,920.00
--	NA	TWI Coordination	4	\$80.00	--	--	\$320.00

Estimate Summary:

Labor Hours	Labor Cost	Material Cost	Equipment	Total Cost	CE Factor	Total Estimate
84	\$14,240.00	\$2,216.09	--	\$16,456.09	106%	\$17,443.46



S&S Mechanical
4831 South Crain Highway
Upper Marlboro, MD 20772

Tel. 1 - (301) 574-1555
Fax. 1 - (301) 574-1558
www.sandsmidatlantic.com

CUSTOMER QUOTATION NO. 1046

Tidewater, Inc.
Tidewater, Inc
6625 Selnick Dr.
Suite A
Elkridge MD 21075

Quote Name: 17766
Quote No: 1046
Site: VA049
Site Contact:
Salesperson: Lindsay Ruby
Created Date: 05/23/2022
Valid For: 30 Day(s)

WO#: 17766

CSS Ticket Number: 616

Problem: Chiller steel frame needs to be scraped and painted with grey rust oleum.

S&S proposes to furnish the necessary labor and materials to thoroughly prepare the entire steel structure by scrapping and sanding all rusted areas. S&S will then clean entire structure to create a clean and smooth surface. S&S will apply a rust inhibitor oil base primer, once dry S&S will apply two coats of a metal rust inhibitor, oil base, protective enamel paint in battleship grey. All areas of roof will be protected during this process and debris will be properly disposed of.

Service

Item	Quantity	Unit Price	Total
Gloves	1.00	\$21.56	\$21.56
Masks	1.00	\$31.18	\$31.18
Wire Brush	2.00	\$7.76	\$15.52
Sanding Sponges	1.00	\$25.18	\$25.18
Utility Brush	6.00	\$4.78	\$28.68
Lacquer Thinner	1.00	\$28.75	\$28.75
5 gal Bucket Lid	4.00	\$2.98	\$11.92
5 gal Bucket	4.00	\$6.23	\$24.92
Mini Roller Assembly	2.00	\$6.56	\$13.12
Roller Covers	3	\$11.93	\$35.79
Paint	5	\$86.40	\$432.00
Oil Based Rust Preventive Primer	2.5	\$91.50	\$228.75
Polishing Disc	3.00	\$35.09	\$105.27
Brush Knot Cup	4.00	\$26.36	\$105.44
Plastic Sheeting	1.00	\$61.61	\$61.61
Hotel Expenses	1.00	\$1,046.40	\$1,046.40
Labor	1	\$13,920.00	\$13,920.00
Sub-Total ex Tax			\$16,136.09
Tax			\$0.00
Total inc Tax			\$16,136.09



S&S MECHANICAL

S&S Mechanical
4831 South Crain Highway
Upper Marlboro, MD 20772

Tel. 1 - (301) 574-1555
Fax. 1 - (301) 574-1558
www.sandsmidatlantic.com

CUSTOMER QUOTATION NO. 1046

Labor	\$13,920.00
Materials	\$2,216.09
Sub-Total ex Tax	\$16,136.09
Tax	\$0.00
Total inc Tax	\$16,136.09

La Quinta Inn by Wyndham Richmond South

9040 Pams Ave, Richmond, VA, 23237, United States

6.8 Good

 Hotels.com 747 guest reviews

 Service: 7.6/10

Check-in

Monday, June 20, 2022

Check-out

Friday, June 24, 2022

4 nights, 2 rooms

Summary

Room, 2 Queen Beds

Average nightly rate \$109.00

Room 1 

 4 nights \$436.00

Room 2 

 4 nights \$436.00

Taxes and fees \$122.08

Total price \$994.08

for 2 rooms, 3 guests, 4 nights
including taxes

Payment schedule

Due now \$0.00

Due at property \$994.08

FIRM GRIP Pro Cleaning Disposable Nitrile Gloves (100-Count)

\$17.97 /box

17.97

100 GLOVES

3M 8511 N95 Disposable Respirator (10-Pack)

\$25.98 package

25.98

FIRM GRIP Pro Cleaning Disposable Nitrile Gloves (100-Count)

\$17.97 /box

17.97

100 GLOVES

3M 8511 N95 Disposable Respirator (10-Pack)

\$25.98 package

Lincoln Electric 14 in. Long Wooden Handled Stainless Steel Welding Wire Brush (.7 in. x 6.4 in. Bristle Area 3 x 19 Row)

Questions & Answers (1)

14 in. Long Wooden Handled Stainless Steel Welding Wire Brush (.7 in. x 6.4 in. Bristle Area 3 x 19 Row)

Used for removing rust, scale, paint, solder, etc
Comfortable handle makes it easy to grip
Use for general cleaning of parts to be welded

View More Details

How to Get It

Delivering to: 20745 | Change

Store Pickup: Pickup Today (7.2 mi) FREE
Ship to Home: Get it by Sun, May 29 FREE
Scheduled Delivery: As soon as Today Starting at \$8.99

Net in stock at Oxon Hill
1 in stock at Hybla Valley (7.2 mi away)
Check Nearby Stores

1 Add to Cart

Buy now with PayPal

3M 3-3/4 in. x 2-5/8 in. x 1 in. 100 Grit Fine Sanding Sponge Block (12-Pack)

Questions & Answers (1)

3M 3-3/4 in. x 2-5/8 in. x 1 in. 100 Grit Fine Sanding Sponge Block (12-Pack)

Conforms to your surface for easy sanding
Resists clogging
Use wet or dry
View More Details

Oxon Hill Store
1 in stock | Aisle 04, Bay 007 | Text to Me

How to Get It

Delivering to: 20745 | Change

Store Pickup: Pickup Today (7.2 mi) FREE
Ship to Home: Get it by Wed, May 25 FREE
Scheduled Delivery: As soon as Today Starting at \$8.99

1 in stock at Oxon Hill
Check Nearby Stores

1 Add to Cart

Buy now with PayPal

UTILITY 2 in. Flat Cut Utility Paint Brush

3.5 ★★★★★ (234) Questions & Answers (3)















\$3.98

For use with flat sheen paints on very rough surfaces
Best suited for utility projects
Disposable design for one-time use
View More Details

Oxon Hill Store
362 in stock Aisle 06, Bay 017 Text to Me

Brush Head Width (in.): 2

How to Get It
Delivering to: 20745 | Change

Store Pickup Pickup Today FREE
Ship to Home Get it by Fri, May 27 FREE
Scheduled Delivery As soon as Today Starting at \$8.99

362 in stock at Oxon Hill
Check Nearby Stores

- 1 + 

Share Print

Buy now with 

Klean-Strip 1 Gal. Lacquer Thinner

1 Gal. Lacquer Thinner - South Coast Formula

3.5 ★★★★★ (194) Questions & Answers (10)











\$23.96

Improves flow and levelling for smooth streak free finish
Cleans brushes, paint sprayer and equipment immediately after use
Medium dry formula helps resist blushing and leaves no residue
View More Details

Oxon Hill Store
77 in stock Aisle 04, Bay 013 Text to Me

Container Size: 1 Gallon
1 Quart **1 Gallon**

How to Get It
Delivering to: 20745 | Change

Store Pickup Pickup Today FREE
Ship to Home Not available for this item
Scheduled Delivery As soon as Today Starting at \$8.99

77 in stock at Oxon Hill
Check Nearby Stores

- 1 + 

The Home Depot 5 gal. Orange Leakproof Bucket Lid with Gasket - SGID-ORANGE-LID-for-5GL-HOMER-PAJ/202264044

Delivering to 20745

5 gal bucket with lid

\$2.48

Provides a leak-proof seal on 5G buckets
Snap on lid that can easily be removed
Perfect match to the 5G Homer Bucket
View More Details

Onon Hill Store
174 in stock - Aisle 08, Bay 012 - Text to Me

How to Get It

Store Pickup - Pickup Today - FREE
Ship to Home - Get it by Wed, May 25 - FREE
Scheduled Delivery - As soon as Today - Starting at \$8.99

174 in stock at Onon Hill
Check Nearby Stores

Add to Cart

Buy now with PayPal

The Home Depot 5 Gal. Homer Bucket - 05GLHD2/100087613

5 Gal. Homer Bucket

\$4.98

Liquid Capacity - 5 US Gallons/20 Quarts
Rigid HDPE plastic construction
Features the original Home Depot logo
View More Details

Onon Hill Store
708 in stock - Aisle SR, Bay 001 - Text to Me

Package Quantity: 1

How to Get It

Store Pickup - Pickup Today - FREE
Ship to Home - Get it by Fri, May 27 - FREE
Scheduled Delivery - As soon as Today - Starting at \$8.99

708 in stock at Onon Hill
Check Nearby Stores

Add to Cart

Buy now with PayPal

Frequently Bought Together

Better 4 in. x 3/8 in. High Density Knit Fabric Mini Roller Assembly with Frame

\$5.47

34 in stock at Oxon Hill

Add to Cart

Better 4 in. x 3/8 in. High-Density Knit Fabric Mini Roller Covers (6-Pack) \$9.94

You're shopping
Oxon Hill ✓
OPEN until 10 pm

Delivering to
20745 ✓

4" roller cover

Home Improvement Pitsler

Store Finder Truck & Tool Rental For the Pro Gift Cards Credit Services Track Order Help

My Account Lists Cart 0 items

All Departments Home Decor, Furniture & Kitchenware DIY Projects & Ideas Project Calculators Installation & Services Specials & Offers Local Ad & Catalog

Home / Paint / Paint Supplies / Paint Rollers / Paint Roller Covers

Internet #20518998 Model #205611 Store 5902 #1021287469

Better 4 in. x 3/8 in. High Density Knit Fabric Mini Roller Covers (6-Pack)

4.5 stars (286) Questions & Answers



122

\$9.94 Buy 4 or more \$8.45

Great for smooth and semi-smooth surfaces

Works with latex and oil-based paints and stains

Six-pack offers added value for your painting needs

View More Details

Oxon Hill Store

19 in stock. — Asile 06, Bay 013 Text to Me

How to Get It

Delivering to 20745 | Change

Store Pickup Pickup Today FREE

19 in stock at Oxon Hill Check Nearby Stores

Ship to Home Not available for this item

Scheduled Delivery As soon as Today Starting at \$8.99

- 1 + Add to Cart

Buy now with PayPal

Rust-Oleum Professional 1 gal. Hi... [+ OPEN in new tab](#)

home depot.com/p/Rust-Oleum-Professional-1-gal-High-Performance-Protective-Enamel-Gloss-Light-Machine-Gray-Oil-Based-Interior-Exterior-Indu...

All Departments Home Decor, Furniture & Kitchenware DIY Projects & Ideas Project Calculators Installation & Services Specials & Offers Local Ad & Catalog

Home / Paint / Industrial Paint / Protective Enamel

Rust-Oleum Professional 1 gal. High Performance Protective Enamel Gloss Light Machine Gray Oil-Based Interior/Exterior Industrial Paint (2-Pack)

4.5 ★★★★ (274) [Questions & Answers \(381\)](#)

\$72.00 /case

Effective rust protection for heavy duty, industrial application
High performance protective paint gives durable consistent color
Tough fast dry coating offers ultimate resistance to the elements
[View More Details](#)

Color/Finish: Light Machine Gray

Gloss

Number per Package: 2

How to Get It

Delivering to: 20745 | Change

Ship to Store Not available in Maryland Change Store

Ship to Home Not available in Maryland Change Zip

Scheduled Delivery Not available for this item

- 1 + [Add to Cart](#)

Share Print

11:18 AM 65°F Sunny 5/23/2022

Rust-Oleum Professional 1 gal. High Performance Flat Rusty Metal Oil-Based Rust Preventive Primer (2-Pack)

4.5 ★★★★ (88) [Questions & Answers \(26\)](#)

\$76.25 /case

Includes 2 cans (\$38.13 /can)

Transforms heavily rusted metal surfaces into a paintable surface
Primer bonds to rust for industrial strength protection/adhesion
High performance primer offers superior top coat adhesion
[View More Details](#)

Number per Package: 2

How To Get It

This item is currently out of stock
Receive an email when this item is back in stock.

Email [Notify Me](#)

Hover Image to Zoom

Share Print

11:21 AM 65°F Sunny 5/23/2022

Product Overview

DIABLO 4-1/2 in. 40-Grit Steel Demon Grinding and Polishing Flap Disc with Type 29 Conical Design (5-Pack)

★★★★★ (281) Questions & Answers (15)





Contains 5 units (\$5.85 /unit)

\$29.24

Use with 4 1/2" corded & cordless angle grinders
Ideal for metal and stainless steel surfaces
10x faster material removal than standard bonded grinding wheels
View More Details

Package Quantity: 5

How to Get It

Delivering to: 20745 | Change

Ship to Store Pickup May 28 - May 31 FREE
Ship to Home Get it by Tomorrow FREE
Scheduled Delivery Not available for this item

Order within 1 hr 32 mins to get it by Tomorrow

8 ready for delivery to 20745
Delivery Options

One-Time Purchase
\$27.78 — SUBSCRIBE AND GET 5% OFF

Schedule your product to be delivered for free when you need it most. Learn More
Ships Every:
5 Months (Most Common) | ▾

Share Print

Add to Cart

Milwaukee 3 in. Brush Knot Cup

★★★★★ (179) Questions & Answers (10)





\$21.97

Heavy duty steel for durability
Optimized for confined spaces
Aggressive weld cleaning
View More Details

How to Get It

Delivering to: 20745 | Change

Store Pickup Pickup Today FREE
Ship to Home Get it by Tomorrow FREE
Scheduled Delivery As soon as Today Starting at \$8.99

Order within 1 hr 30 mins to get it by Tomorrow

18 ready for delivery to 20745
Delivery Options

One-Time Purchase
\$20.87 — SUBSCRIBE AND GET 5% OFF

Schedule your product to be delivered for free when you need it most. Learn More
Ships Every:
5 Months (Most Common) | ▾

Share Print

Add to Cart

Husky 20 ft. x 100 ft. Clear 3 mil Plastic Sheeting - CF0320C | 102164065

DELIVERING TO 20745

heavy duty plastic sheeting

My Account | Lists | Cart | 0 items

All Departments | Home Decor, Furniture & Kitchenware | DIY Projects & Ideas | Project Calculators | Installation & Services | Specials & Offers | Local Ad & Catalog

Home / Paint / Paint Supplies / Plastic Sheeting

Husky (Brand Rating: 4.3/5) 20 ft. x 100 ft. Clear 3 mil Plastic Sheeting

★★★★★ (19) Questions & Answers (0)



\$51.34

Protects surfaces from moisture, dust, debris, paint, and more.

Use as a vapor barrier, a drop cloth, or a temporary cover.

Manufactured with recycled polyethylene.

View More Details

How to Get It

DELIVERING TO 20745 | Change

Ship to Store | Pickup May 28 - May 31 | FREE

Ship to Home | Get it by Fri, May 27 | FREE

Scheduled Delivery | Not available for this item

42 available for delivery to 20745

Delivery Options

One-Time Purchase

\$48.77 — SUBSCRIBE AND GET 5% OFF

Schedule your product to be delivered for free when you need it most. Learn More

Ship Every: 3 Months (Most Common)

11:31 AM 67°F Sunny 5/23/2022